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1.The Preferences menu in the top frame of the system allows users to do all of the following EXCEPT:
A.Select workspaces for display

B.Update user profile information

C.Subscribe to email notifications

D.Update records within applications

Answer: D

2.What is the minimum operating system requirement for the RSA Archer Web Server?
A.Microsoft Windows 2000 Server

B.Microsoft Windows Server 2003

C.Microsoft Windows Server 2003 R2

D.Microsoft Windows Server 2008

Answer: B

3.How many databases are needed to support the RSA Archer Platform?
Al

B.2

C.3

D.One database is needed for every application created in the system.
Answer: B

4.When a notification isn $t received as expected, it is likely something is configured incorrectly in:
A.The Notification Reports

B.The configuration database

C.The notification template itself

D.The application supporting the notification

Answer: C

5.Administrators can access features on the Administration tab to do all of the following EXCEPT:
A.Create new records

B.Configure questionnaires

C.Add new fields to applications

D.Change the colors of the system

Answer: A

6.The Audit Management solution includes audit-related applications as well as a set of applications
related to what other area?

A.Risk Management

B.Vendor Management

C.Staffing Management

D.Incident Management

Answer: C

7.The Business Continuity Management solution also includes applications that address which two of the
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following issues? (Choose two)
A.Crisis Events

B.Evidence Gathered
C.Disaster Recovery
D.Incident Management
E.Investigations In Progress
Answer: A, C

8.The Compliance Management solution readily interacts with all of the following RSA Archer solutions
EXCEPT:

A.Risk Management

B.Policy Management

C.Incident Management

D.Enterprise Management

Answer: C

9.The Enterprise Management solution is split into which two sub-solutions?
A.Asset Management and Company Hierarchy

B.Business Infrastructure and Enterprise Hierarchy

C.Organizational Structure and Asset Management

D.Business Hierarchy and Enterprise Infrastructure

Answer: D

10.The Incident Management solution uses which application as its central starting point?
A.Contacts

B.Incidents

C.Investigations

D.Response Procedures

Answer: B
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